GAGART — 03 ## [T @ FifHF ## QHAIZTETT — ©
3. SR IO o7 8 A1GIR aferat:-

SYred IS BT WGP T WL 0 TN J (@R ST Al
BT Sercpel 6 (HLRICast (ReTes IO &g 0 [SI91E (WS
TS [US S oedd SIS 20E I Fo B Q) @ e
L PACO (A O (T A G (@ (e JIRE Tl Y OIS IO 57
0 |

Bolton and Conn -«3 site, “Present value«s-the current worth of
future monetary unit discounted at thexappropriate interest rate”.
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I.M. Pandey -@3 st/ Fhe process o determining present value of a
future payments(otreceipts) or a series of future payments (or receipts )
is called discQunting “.
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